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BLP-001 : INTRODUCTION TO SERICULTURE 

Time : 2 Hours     Maximum Marks : 50 

Note : Attempt any five questions. All questions 

carry equal marks.  

1. Define any ten of the following : 10 × 1 = 10 

(a) Acid treatment 

(b) Composite cellule 

(c) Sericulture 

(d) Grainures 

(e) Oviposition 

(f) Cocoon 

(g) Multivoltine 
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(h) Chawki rearing 

(i) Silk 

(j) Reelability 

(k) Degumming of eggs 

(l) Synchronization of moths 

2. Write short notes on the following : 2×5=10 

(a) Various inputs for high quality and 
quantity of cocoon production 

(b) Steps involved in loose egg production 

3. What are the different types of silkworm ? 
Write about their host plants. Which Indian 

states are involved in rearing/cultivation of 
different types of silkworm ? 3+2+5 

4. (a) Draw life cycle of silkworm. 5 

(b) What are the different financial schemes 
aiming to promote sericulture ? 5 

5. (a) List the important constraints faced by the 
silk industry in India. 5 

(b) List the various activities in sericulture 
which help in employment generation. 5 
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6. (a) Enlist the quality parameters of silk. 5 

(b) Explain how silkworm larval litter can be 
used in livestock sector as by-product. 5 

7. (a) What are the different defects seen in the 
cocoons ? 2 

(b) How can women build up rural economy 
through sericulture ? 3 

(c) Explain the contribution of extension 
functionaries in sericulture development. 5  

8. (a) Draw a flowchart of the reeling process. 5 

(b) Enlist the steps involved in cooking of 
cocoons. 5 
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      BLP-001 

js'kedhV ikyu esa izek.k&i=k 

(lh- vkbZ- ,l-) 

l=kkar ijh{kk 

fnlEcj] 2022 

ch-,y-ih--001 % js'ke mRiknu dk ifjp; 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % fdUgha ik ¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds 

vad leku gSaA  

1- fuEufyf[kr esa ls fdUgha nl dks ifjHkkf"kr dhft, %  

10 × 1 = 10 

(d)  vEyksipkj 

([k)  la;qDr y?kq dksf'kdk 

(x)  js'ke mRiknu 
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(?k)  chtdkjd 

(³)  vaM fu{ksi.k 

(p)  dkslk 

(N)  cgqizt 

(t)  pkWdh dhVikyu 

(>)  js'ke 

(¥)  /kxkdj.k {kerk 

(V)  vaMksa dk ¯oxksanu 

(B)  'kyHkksa dh ledkfydrk  

2- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 2×5=10 

(d)  mPp xq.koÙkk vkSj ek=kk ds dkslk mRiknu ds 

fy, fofHkUu fuos'k 

([k)  vc¼ vaMk mRiknu ls lacaf/r pj.k 
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3- js'kedhV ds fofHkUu izdkj dkSu&ls gSa \ muds iks"kd 

ikS/ksa ds ckjs esa fyf[k,A Hkkjr ds fdu jkT;ksa esa 

fofHkUu izdkj dk js'kedhV ikyu@mRiknu gksrk gS \  

3+2+5 

4- (d)  js'ke ds thou&pØ dk vkjs[k cukb,A 5 

([k)  js'ke mRiknu dks izksRlkfgr djus okyh fofHkUu 

foÙkh; ;kstuk,¡ dkSu&lh gSa \ 5 

5- (d)  Hkkjr esa js'ke m|ksx ds }kjk vuqHko dh tkus 

okyh egRoiw.kZ dfBukb;ksa dh lwph rS;kj 

dhft,A 5  

([k)  jkstxkj l`tu eas lgk;d js'ke mRiknu laca/h 

xfrfof/;ksa dh lwph rS;kj dhft,A 5 

6- (d)  js'ke ds xq.koÙkk ekudksa dks lwphc¼ dhft,A 5 
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([k)  vkthfodk ds {ks=k esa miksRikn ds :i esa 

js'kedhV fo"Bk dk mi;ksx fdl izdkj fd;k 

tkrk gS] O;k[;k dhft,A 5 

7- (d)  dkslkvksa esa utj vkus okys fofHkUu nks"k dkSu&ls 

gSa \  2 

([k)  js'ke mRiknu ds }kjk efgyk,¡ xzkeh.k vkfFkZdh 

dks fdl izdkj fufeZr dj ldrh gSa \ 3 

(x)  js'ke mRiknu ds fodkl esa izlkj dk;Z&ra=k ds 

;ksxnku dh O;k[;k dhft,A 5 

8- (d)  /kxkdj.k izfØ;k dk izokg vkjs[k (ÝykspkVZ) 

cukb,A 5 

([k)  dkslkvksa dks idkus ls lacaf/r pj.kksa dh lwph 

cukb,A 5 
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